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:KQ§NA = DANK!

Thedoor you built for Todd and Gina 
was a huge success, and now %KQC§O
selling it to customers all across the 
world.

You: Oh, has something gone wrong?
Todd and Gina: No, not at all. The door works just like you said
it would.
You: But there must be a problem, right? Is the door not closing
quickly enough? Is the button on the remote not functioning?
Todd and Ginat /Ks NA=HHUrrr EP§O SKNGEJC FQOP =O SAHH =O PDA @=U
you installed it and showed everything to us.
You: Is Fido not barking to be let out anymore? Oh, have you
checked the batteries in the remote?
Todd and Gina: No, we swear, the door is great. We just have a
BAS E@A=O =>KQP OKIA ?D=JCAO SA§@ HEGA UKQ PK I=GArrr
Yout #QP EB ARANUPDEJC EO SKNGEJCs PDAJ SD=P§O PDA LNK>HAI~

But then came a phone call...
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Back to the drawing board
We need to figure out a way to open the
@KKN SDAJARAN 'E@K >=NGOr -AP§O OP=NP KQP >Urrr

The customer is always right
Even when requirements change,
UKQ§RA CKP PK >A NA=@U PK QL@=PA UKQN
application and make sure it works
like your customers expect. When your
?QOPKIAN D=O = JAS JAA@s EP§O QL PK UKQ
to change your applications to meet
those new needs.
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Theoneconstantin software development

Nomatterwhereyouwork,whatUKQ§NA
building, or what languageyou
programmingin, SD=P§Oone true
constantthatwillbealwayswithyou?

No matter how well you designan
application,over time an application
mustgrowandchangeor it willdie.
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Sharpenyourpencil
Requirements change all the time... sometimes inthe middle of a 
project, and sometimes when youthink everything is complete. 
Write down somereasons that the requirements might change in
the applications you currently are working on.

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

My customer decided that they wanted the application to work differently.

My boss thinks my application would be better as a web application than a desktop app.
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1. Fidobarksto be letout.

2. ToddorGinahears
Fidobarking

3. Toddor Ginapresses
theremotebutton.

4. Thedogdooropens.

5. Fidogoesoutside.

6. Fidodoeshis business.

7. Fidogoesbackinside.8. Thedoorshotsautomatically.

wor to the
alternatepath

Exercise- addbark recognition



8

6. Fidodoeshis business

alternatepath

6.1. Thedoorshuts
automatically

6.2. Fidobarks
to letbackinside

6.3. Todd or Gina hears
Fido barking (again)

6.4. Todd or Gina pressesthe 
button on theremote control

6.5. Thedogdooropens(again)
to main path

Update the diagram, and add an alternate path where Fido barks, 
%KQC§Onew bark recognizer hears Fido, and the dog door automatically 

opens. Theremote ?KJPNKH ODKQH@ OPEHH SKNGs PKKs OK @KJ§P NAIKRA 
anything from thediagramu FQOP =@@ =JKPDAN L=PD SDANA 'E@K§O >=NGEJC 

opens the door.
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1. Fidobarksto be letout.

2. ToddorGinahears
Fidobarking

3. Toddor Ginapresses
theremotebutton.

4. Thedogdooropens.

5. Fidogoesoutside.

6. Fidodoeshis business.7. Fidogoesbackinside.8. Thedoorshotsautomatically.

wor to the
alternatepath

Exercisesolutions

2.1 Bark recognizer
"hears" a bark

3.1 Bark recognizer
sendsa requestto the
doorto open

Mostof thediagram
stayedthesamew we
neededonlythesetwo
extrasteps.
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6. Fidodoeshis business

6.1. Thedoorshuts
automatically

6.2. Fidobarks
to letbackinside

6.3. Todd or Gina hears
Fido barking (again)

6.4. Todd or Gina pressesthe 
button on theremote control6.5. Thedogdooropens(again)

to main path

6.3.1 Bark recognizer
"hears" a bark (again)

6.4.1 Bark recognizer
sendsa requestto the
doorto open

Wealsoneeda coupleof 
alternatestepshere, too.

Since thesestepsarealready
on an alternatepath, weneed
twosub-step numbers.


